Example:

A ladder 10 foot long rests against a wall. If the bottom slides away

at 1 ft./sec is the top of the ladder sliding down the wall the
- -

instant th omof the ladder is 6 feet from the wall?
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A rock is thrown into a pool of water. A circular wave leaves the point of impact and
travels so that its radius increases at a rate of 25 cm/s. How fast is the circumference
of the wave increasing when the radius of the wave is 1m ?



Example:

A water tank has the shape of an inverted
circular cone with base radius 2m and height
4m. If water is being pumped into the tank at

2 m3/min. , find the rate at which the water
level is rising when the water is 3 m deep. ’/= / —_—
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Example 4:

Water is being poured into a conical reservoir at the rate of pi cubic feet per
second. The reservoir has a radius of 6 feet across the top and a height of 12 feet.
At what rate is the depth of the water increasing when the depth is 6 feet?
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The wolume of the water i the reservoir (V) 13 given by

V=lﬁﬁk
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Example 5:

A man 6 feet tall is walking toward a lamppost 20 feet high at a rate of
5 feet per second. The light at the top of the lamppost (20 feet above

the ground) is casting a shadow of the man. At what rate is the tip of his

base of the lamppost?

shadow movin what rate is the length of his shadow changing
when he 1710 feet from .
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Warm Up

A9 AN ship A 12 situated 80 L due east of ship B Ship A is traveling north at
40 jermtly and ship B 15 sailing south at 60 ks, How fast 15 the distance between the
ships changing at noon ¥

A bulding 15 dluminated by a floodlight that 15 15 m away and at ground level a man
2 m tall walks away from the light directly towards the building at 2 m/is. Determine
the rate of change of the length of his shadow when he 154 m from the light 7 [3]

The trough down the centre of a cattle barn 15 40 cm wide at the top and 20 cm at the
bottorn It 13 30 cm deep and 8 m long The trough 1s being filled at the rate of

0.25 m¥min. How fast is the water level in the trough rising when the water

1z 20 cm deep in the trough?



A9 AN ship & 13 situated B0 Jom due east of shup B Ship A 18 traveling north at

: d ship B 1s satling south at 60 ks, How fast 15 the distance between the
g .

ips changing at noon ¥
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& bulding 12 lluminated by a floodlight that 15 15 m away and at ground level a man

2 m tall walks away from the light directly towards the bwilding at 2 m/fs. Determine

the rate of change of the length of hiz shadew when he 15 4 m from the light 7 [3]
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The trough down the centre of a cattle barn 12 40 cm wide at the top and 20 cin at the
bottorn It 1z 20 cm deep and 8 m long. The trough 1s being filled at the rate of
H-;}w tast 15 the water lewel in the trough rising when the wat

15 20 cm deep 1n the trough? v

025 =/6 2 Q”( /
SQBﬁfcM

0,28~ 360(07!:9\_1'\%
a
dh s

at 66 0-09375 W%{
—

12



CD E},gk %.(?S/h‘é

@ Workshaet

13



	Page 1: Mar 28-12:41 AM
	Page 2: Nov 22-8:58 PM
	Page 3: Mar 19-11:50 AM
	Page 4: Mar 30 - 12:45 AM
	Page 5: Mar 30 - 12:54 AM
	Page 6: Apr 13-1:31 PM
	Page 7: Apr 13-1:32 PM
	Page 8: Apr 13-1:34 PM
	Page 9: Mar 25-11:55 PM
	Page 10: Apr 18-12:45 PM
	Page 11: Apr 18-12:57 PM
	Page 12: Apr 18-1:06 PM
	Page 13: Apr 18-1:23 PM

